05040 EEERNRIERH |,

7= miiEA

M
44k DD11 1.0332

g -
MHEEE
AR,
it e E,

BR:
B2 W, 05200 - 05280

© norelem www.norelem.com



= 1R K 4 norelem
05040 FE R R PIERLS | HEEE
. R1 il
|
l 1
| A
; / /
M o /
a & -l ,\Q% . / /:/
- o /i .
1 P —~
] N ' ; \ el
1lh : | ; - o
I ] I o g | __”_@. Nl i
o | H 1A /\‘_ ,L;—-’_/ J
11L o - g -
N |1 i I //— L
HIH _“_1-- ] € - .-// (22}
I | = : x_@ & =
il = a1 i =
L 1 <P} = |
i = N \
\
st |14
sl | i Ao
- L3
Nk'
ok o
|
05040-05 |4,5| 16 35 26| 5| 18 | 31 | 95| 36 (10| 14 16 M5x35 |45 5 |56,5|96 |10,5| 4 |16 0,8| 05200-100
05040-06 |5,5| 23 46 (32| 9 | 21 37 |11,5]| 43 [11| 12 14 M6x50 |5,5| 5,5 170,5/121/13,5| 6 |23 1 05200-105
05040-08 | 7 | 27 55 39| 9 [26,5|/455| 14 |52,5(14| 19 21 M8x50 [6,5| 6,5 | 86 |[143| 16 | 6 |23 2,3| 05200-115
05040-10 | 8 | 33 74 143|7,5| 33 | 52 18 | 61 |18] 26 28 M10x70 |8,5| 9 110 |177| 18 | 7 |26 3,5| 05200-120
05040-12 |10 | 45 100 |50 9 | 41 61 22 | 72 |21] 32 32 M12x80 |8,5|11,5| 140 |215| 23 | 8 |30 4,6| 05200-135

© norelem www.norelem.com




